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There, where the meat is on the coals - 921K Kwa2 ann

Overview

The % 13 asked how can "W 27 permit even a p>w X X7 when we learnt in a 71wn
that one may not roast meat on ¥"¥, unless it will be roasted *"van. The X 1 answered
that the 71w is in a case where the meat is on the coals, and therefore it is very likely
that he will stoke the fires. However X" is discussing roasting it in an oven.

mooin asks:
= MINNN RIWA RIN TON XD) PrIY RDY NI 29U SUN 299 9NN ON)

And if you will say; according to X'"% who permits placing ram’s meat into an
oven which is not sealed, and he only prohibits meat on the coals; according to X" -

- (3,00 91 199900 TN NDN PINN PNRT PNINND 1YY SWPIN
There is a difficulty for him from our 71w», which states, ‘that we do not place
bread into the oven, unless it forms a crust before naw’ —

mooin asks an additional question on X"A:
= 317 171998 79130 2337 DIYN RNYV INMD 12299N 2NDN NN PHYHYN N

And furthermore, regarding the rule in the 71wn that we lower the 1op 1277 [into
the oven], the X713 explains what is the reason that it is permitted, and we are not

concerned for i Xnw, because the people of the group are “agile’ and will not be

annn -
- 99Y 333 97 INYA NN (x,2 97 JAPY W91

As the X713 explains later, but why do we need this reason, for according to X",
without this reason of 777 7177 it would also be permitted since it is not >R X w3 —

NID0IN answers:
= Y9INN RIYWA 995 0T NIND MINNY 2999197 91919 W

And one can say that the 71wn» of N and ro» are discussing a case where the oven
is open so it is like 23R RW3, the fire is easily accessible for stoking —

n1voIN concludes:

! X" maintains that P X1 X112 is permitted because it is not directly on the coals, so the same should apply by
bread, since it is not directly on the coals (the bread is attached to the oven wall) it should also be permitted 7>°wr oy
even if it will not crust before naw, just like P> XY ’A12.
2 The n"27 Mnx1 amends this to read 172X N2 noo:7 (instead of 13K 1oo7).
3 See *"w1 on TRWHWH 1"7 2,0 who writes, D22 MY IR XYY UTTIR 21277 17 PIOT 77120 0137,
4 Therefore the bread must crust, and the 109 is permiited only because 371 1771 7120 *12. See ‘Thinking it over’.
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And it is the view of 1901 that the 7597 is not like X' in this version (the X2°X

"nKR7), where X'"1 permits even paw K21 Xr92 -
= 5PN NINN NY NY NN RY NPT 7D YWPT 11D 9INPT DI99T NINOY

For the X973 previously, which stated that since the wind is bad for it (the 5w PnX
1w or X737 X7w2) he will not open the oven, this X723 is not compatible with x"- -
- 0O PITT NN 33 232 SNPYT NIND 19

And also the X923 later regarding 277 273977 77127 %12 -
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Where the X712 answers, ‘this (the X>73) is cut up, so the wind is bad for it, but

that (the oo 127p) it is not cut up’ (a noo 1277 is roasted whole), so Rp>T 7°2 *wp K7 -
$99Y NPT 1Y SWUP NYT XD 199N YYUN 299

But according to X''1 even if it is Xp7 79% "wp RY, it is also permitted as long as it is
not MR RIW2.

Summary
According to *w 27 the mwn of Nd 1101 PR and "1 PHwWOWn is in a case of an open

oven which is similar to 1R X2 and there is the wwn of 7nm° RAW.

Thinking it over

moon answered that the mawn of P2wHwn is discussing a mind 1N, so there is a greater
concern of nm> Xnaw.” However later in the X713 (cited here at the end of mpoin), the
X3 differentiates between noo and X 73 that by no» it is whole so the wind does not
affect it, however the %73 is cut up so the wind affects it. The question is Jwa1 fnn;
if the case of the X712 is by an open oven, so there is wind already, cut up will not
prevent n°m; and if the case of X>72 is by a closed oven, so what is the question from
ros, by an open oven there is concern, but not by a closed oven when Xp>1 777 “wp?!8

5> According to this X3 the reason there is no anm Xnw is because RXp>1 7177 *wp, otherwise there would be the wwn of
anm> ’nw, however according to *w 27 there is never a wwn of Inm> RHW even if Xp>T 12 *wp 8, unless it is * AR RIW2.
6 X,3. The X1 there asks why do you say that the reason for moss1 nX 12w5wn is because 377 11> 7720 °13, indicating
that if not for that reason it would be 710K, but we said (according to the *KX7 X2°K) that X723 is permitted whether pw
or P X7 (the nos 127p can be brought from (a w35 or) a 7).
7 See footnote # 4.
8 See X"wN.
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